





















# The general Ray-transfer matrix

Generalizing the matrix relationship for any number of translating, reflecting, refracting surfaces:

$$\begin{bmatrix} y_f \\ \alpha_f \end{bmatrix} = M \begin{bmatrix} y_0 \\ \alpha_0 \end{bmatrix} \text{ where } M = M_N M_{N-1} \cdots M_2 M_1$$

*M* is the **RTM of the optical system**.

### Some rules :

Matrix multiplication is non-comutative:  $M_1M_2 \neq M_2M_1$ Matrix multiplication is ssociative:  $(M_3M_2)M_1 = M_3(M_2M_1)$ Order of operations from first the ray sees to the las one is **right to left**.

Matrix Methods in Paraxial Optics

2/27/12

12

















## Significance of system matrix elements













27

Finding the difference equation for the rays succeeding through a unit cell

 $\begin{bmatrix} r_{s+1} \\ r'_{s+1} \end{bmatrix} = \begin{bmatrix} A & B \\ C & D \end{bmatrix} \begin{bmatrix} r_s \\ r'_s \end{bmatrix}$   $r_{s+1} = Ar_s + Br'_s \rightarrow r'_s = \frac{1}{B}(r_{s+1} - Ar_s)$   $r'_{s+1} = Cr_s + Dr'_s = Cr_s + \frac{D}{B}(r_{s+1} - Ar_s)$ one step further  $\rightarrow r'_{s+1} = \frac{1}{B}(r_{s+2} - Ar_{s+1})$   $\rightarrow$   $\frac{1}{B}(r_{s+2} - Ar_{s+1}) = Cr_s + \frac{D}{B}(r_{s+1} - Ar_s) \text{ and with } AD - CB = 1$   $r_{s+2} - 2\left(\frac{A+D}{2}\right)r_{s+1} + r_s = 0$ 2/27/12
Matrix Methods in Paraxial Optics





# $\begin{array}{l} \textbf{Stability conditions} \\ \textbf{Stability condition for cavity} \\ \textbf{Stability condition for cavity cavity$











Solution for repetitive ray path cavity  $f_{1} = \left[ \begin{array}{c} 1 & 2d \\ 0 & 1 \end{array} \right] \left[ \begin{array}{c} 1 & 0 \\ -1/f_{2} & 1 \end{array} \right] \rightarrow f_{1} = \left[ \begin{array}{c} 1-2d/f & 2d \\ -1/f & 1 \end{array} \right]$   $To the second choice unit cell the solution: \begin{cases} r_{p} = r_{0}e^{jp\theta} + r_{0}^{*}e^{-jp\theta} \\ r_{p} = r_{max}\sin(p\theta + \alpha) \end{cases}$   $e^{j\theta} = \frac{A + D}{2} + j \left[ 1 - \left( \frac{A + D}{2} \right)^{2} \right]^{1/2} = \cos\theta \pm j\sin\theta \text{ with } \frac{d}{R_{2}} = \frac{3}{4}$   $cos\theta = \frac{A + D}{2} = \frac{1}{2} \left( 2 - \frac{2d}{f} \right) = 1 - \frac{d}{R_{2}/2} = 1 - 2 \left( \frac{3}{4} \right) = -\frac{1}{2} \rightarrow \theta = \frac{2\pi}{3}$   $ding the initial conditions r = r_{0} \quad \frac{\text{Solution}}{R_{2}} = r_{p} - sin \left( \frac{2\pi}{3} - \frac{\pi}{6} \right)$   $p = 0 \rightarrow r_{p} = r_{0}; \quad p = 1 \rightarrow r_{p} = 2r_{0}; \quad p = 2 \rightarrow r_{p} = -r_{0};$  det to the original value of the start of the round trip. This choice of the start cell**does not give any information about the ray at the flat metrure.** 

# How many roundtrips to get back to the original position? For any cavity we can find the number of round trips it takes to get the beam to its original position. $r_s = r_{max} \sin\left(s \underset{phase gain per round trip}{\theta} + \alpha\right)$ where $\theta = \cos^{-1}\left(\frac{A+D}{2}\right)$ Assume *s* increases by *m* units to get back to the original position. Total phase gain has to be integer of $2\pi$ $m\theta = 2\pi n$ and to guarantee $\theta < \pi$ we require m > 2nFor our solution: $r_s = r_0 \sin\left(\frac{2\pi}{3}s - \frac{\pi}{2}\right) \rightarrow m\frac{2\pi}{3} = 2\pi n \rightarrow m = 3n$ $n = 1 \rightarrow m = 3$ and m > 2n holds so **after 3 round trips** For The other solution *m* is the same since $\theta$ is the same.















